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1.	

16

2

64

4 ñx + m

i)  x3 = 64 ⇒ x = 4
ii) 2.y.z = 16 ⇒ 8z = 16 ⇒ z = 2
       ↓    
      4	

iii) m 2y
=

    m 24 =  ⇒ m = 24

                    m = 16

   ⇒ z.(ñx + m) = 2(ñ4 +16) = 2.18 = 36
Cevap: A

2.	

20

2

36

y 7

i) x3 = 36 = 93 ⇒ x = 9

ii) ñx + m = 7

  ñ9 + m = 7

     3 + m = 7 ⇒ m = 4
iii) m 2y

=

    24y =  ⇒ y = 2
iv) 2.y.z = 20

    2.2.z = 20 ⇒ 5z =

Cevap: C

3.	

5

3 130

i) m 5y
=

   m 53 =  ⇒ m = 125

iii) ñx + m = 130

 ñx + 125 = 130

      ñx = 5

              x = 25

 ⇒ x3 = 253 = 56

Cevap: D

4.	

12

3

27

2

⇒ x3 = 27 ⇒  3x =

⇒ 2yz = 12 ⇒ 4z = 12
      ↓

     2                 3z =

⇒ m 3y
=

   ñm = 3 ⇒ m = 9

⇒ x.y.z.m = 3.2.3.9 = 162
Cevap: D
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5.	

2 5c

14

a

c

3b

i)  2d + c3 = 14
       ↓    
      3	
    6 + c3 = 14 ⇒ c3 = 8 ⇒ c = 2

ii) ña – 2d
                ↓    
              3	
ña – 6 = 2
ña = 8 ⇒ a = 64

iii) 
.

.
b c

c2 5=  ⇒ b = 10

⇒ a + b + c = 64 + 10 + 2 = 76

Cevap: C

6.	

b 2b

66

a

c

db

 

i) 
.

.
b c

b2 2=  ⇒ c = 4

ii) 2d + c3 = 66

    2d + 43 = 66 ⇒ 2d = 2 ⇒ d = 1
iii) ña – 2d = 6
   ña – 2 = 6
   ña = 8
    a = 64

Cevap: B

7.	

c

db

9

22218

25

i)  a – b = 22

    25 – b = 22

     b = 3

ii) .b c
2 9=

    .c
2
3 9=  ⇒ 3c = 18

                         c = 6

iii) 2d + c3 = 218

     2d + 63 = 218

     2d + 216 = 218

     2d = 2 ⇒ d = 1

 ⇒ b + c + d = 3 + 6 + 1 = 10
Cevap: B

8.	

4c

b

b
8

i) 
.

.
b c

c2 4=  ⇒ b = 8
ii) a – b = b

    a = 2b ⇒ a = 16
             ↓

           8

iii) ña – 2d = b8 	

   ò16 – 2d = 8
8

     4 – 2d = 1
     3 = 2d ⇒ d = 2

3
Cevap: B
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1.	
4

6

5 x

) 4 8i a b a b

a c

c d

2

2

2

&
-

= - =

-

-

) 5 10ii a c&= - =

)iii c d6 12&= - =

– / a – b = 8
     a – c = 10
     c – d = 12
+                    
     b – d = 14

x b d
2 2

14 7& =
-

= =

Cevap: A

2.	
4a = b

= dc = 5a 8a

a

x

x c a
a b

a a
a a

a
a

5 8
4

3 13
= -

-
= -

-
= -
-

=

Cevap: C

3.	

xi ii

iii

2c 2d

2d

c d5=

)i a c c a c c
a c

b d

c d

2 2 4
5

2

2

&
-
= - =

=

-

-

b dd d2 4)ii &= - =

d2)iii c d d4&= - =

b d5=

.a c d d

c d
a b

d d
d d

d
d

5 5 5 25

5
25 5

4
20

& = = =

-

-

-

-x 5= = = =

Cevap: A

4.	 i

ii

iii
x

4

4

)i a b a b

c d
a

c

c d

b
d

2 4 8

8

2 2
2

&
-

= - =

-
-

-

-

4)ii 4&= =

c d 2-

1x = = =)iii

=

Cevap: A
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5.	  
5 7

9

15

  				      

                             ii)   a + c = 9
      6 + c = 9
            c = 3

     iii)   c + d = 15
      3 + d = 15
            d = 12

⇒ i) a – b = 5
        a + b = 7
   

 +                  
            2a = 12
              a = 6

Cevap: E

6.	  
2

410

5

i)   a – b = 2
     a – 5 = 2
           a = 7         

ii)   a + c = 10
     7 + c = 10
           c = 3          

iii)   a – d = 4
      7 – d = 4
            d = 3

⇒ 4c – d = 4.3 – 3 = 9
Cevap: D

7.	

x22

12

    i) a + b = 12
ii)     a + c = 22
   

 –                  
  x = b – c = –10

Cevap: C

8.	

 

x

7

4 8

13

     i) a – b = 4
        a + b = 8
    +                  
            2a = 12 ⇒ a = 6

    ii)  c + d = 13
        c – d = 7
    –                  
            2d = 6 ⇒ d = 3

iii) x = a – d = 6 – 3 = 3
Cevap: B
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1.	

1

12

1
i

ii

iii

iv
4

i)  ca = 1 ⇒ c = 1
ii)  b.c = 4 ⇒ b = 4
        1

iii)  b – d = 1 ⇒ 4 – d = 1
     4                       d = 3
iv)  a.d = 12
      a.3 = 12
        a = 4

Cevap: D

2.	

i

ii

iii

y

20

16

2

x

i)  b.c = 2
    ↓↓

    1 2

ii)  ca = 2a = 16
            2a = 24 ⇒ a = 4

iii)  a.d = 20 ⇒ 4d = 20
     ↓                   d = 5
      

4

 x = a – c = 4 – 2 = 2
 y = b – d = 1 – 5 = –4
⇒ x – y = 2 – (–4) = 6

Cevap: D

3.	

12

2c

64

i

ii

iii

i)  a – c = 2.c ⇒ a = 3c
ii)  ca = 64
     c3c = 23.2 ⇒ c = 2
iii)  b.c = 12
      b.2 = 12
         b = 6

Cevap: E

4.	

i ii

iii

iv

6c5d

2

4

x y

i)  . 5 5a d d a&= =

ii) .b c bc 66 &= =

iii)  a – c = 2
      5 – c = 2
            c = 3
iv)  b – d = 4
      6 – d = 4
            d = 2
⇒ x = ca = 35 = 243
     y = db = 26 = 64
O halde x + y = 243 + 64 = 307

Cevap: E
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5.	   
4

c

12

34

i)  a.d = 12
    4.d = 12
       d = 3
ii)  d2 + c2 = 34
     32 + c2 = 34
            c2 = 25
              c = 5

Cevap: D

6.	 a

b d

c

10

2di

ii

i)  c
b d d c

b2 2&= =

ii) a.d = 10

   
.

a c
b

c
a b
2 10=

20=

.

Cevap: D

7.	

iii

iv

ii

i x

5

24–4

c
10

i)  c
b

c b10 10&= =

ii)   a – b = –4
    a – 10 = –4
            a = 6
iii)   a.d = 24
       6.d = 24
            d = 4
iv)   c2 + d2 = 52 + 42 = 41

Cevap: B

8.	

iii

ii i1

1

4

c

12

i)   a.d = 12
     a.4 = 12 ⇒  a = 3
ii)   a – b = 1
      3 – b = 1 ⇒ b = 2
iii)  

c
b

c

1

2

=

c1 2&= =
Cevap: B
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